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Computing  

Locality in Distributed Network Computing 

Congestion-Prone Distributed Network 
Computing 

Other Aspects of Distributed Computing
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CONGEST Model
• Each process is located at a node of a network 

modeled as an n-node graph (n = #processes)  

• Each process has a unique ID in {1,…,n} 

• Computation proceeds in synchronous rounds 
during which every process: 

1. Sends a message to each neighbor 

2. Receives a message from each neighbor 

3. Performs individual computation (same 
algorithm for all nodes)
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B bits

Typically, B = O(log n)



Non-local problems
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All-Pairs Shortest Paths
Specification: Every node v aims at computing 
distG(v,u) for every other node  

General idea (for unweighted graphs): 
Every node u launches a signal performing BFS(u)  
Whenever v receives signal of BFS(u), it sets  
distG(v,u) = #hops performed by the signal from u 

Issue: Several signals may traverse the same edge at 
the same round.  
☞ The signals must be scheduled carefully. 
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Linear time algorithm
Theorem [S. Holzer, R. Wattenhofer (2012)] 
APSP can be solved in O(n) rounds in the CONGEST model.  

Proof. Scheduling of the signals:  
Construct a BFS tree rooted a node with smallest ID 
Perform a DFS traversal of the tree where, whenever reaching a 
node u for the first time:  

(1)  wait 1 round,  
(2)  launch the BFS signal of u 
(3)  move to next DFS node. 

See https://users.ics.aalto.fi/suomela/apsp/ 
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BFS Construction
Based on a Breadth-First 
Search (BFS) tree 

Lemma BFS construction requires  
O(D) rounds in the CONGEST model 

𝚒𝚍min ← ID(u) 
repeat

send 𝚒𝚍min to neighbors, and receive IDs from neighbors 
if ∃ 𝚒𝚍 ∈ {IDs sent by neighbors} : 𝚒𝚍 < 𝚒𝚍min then  

𝚒𝚍min ← 𝚒𝚍 
parent(u) ← ID(v) where v is the neighbor which sent 𝚒𝚍 
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Algorithm of node u



Weighted Graphs
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Cf. Cristoph Lenzen’s lecture!



Minimum Spanning Tree 
(MST)
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Input of node u : ID(u), w(e) for every e ∈ E(u) 
Output of node u : list of edges e ∈ E(u) belonging to MST



Facts about MST
Let G = (V,E) be a connected weighted graph 

• Without loss of generality, all weights can be 
assumed distinct ➠ for every e = {u,v} with 
ID(u) > ID(v), replace w(e) by (w(e),ID(u),ID(v)). 

• For every cut (S,V∖S) in G, the edge of minimum 
weight in the cut belongs to the MST.  

• For every cycle C in G, the edge of maximum 
weight in C does not belong to the MST
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MST is a non-local problem
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Figure 3: Le problème du MST ne peut pas se résoudre localement. Toutes les arêtes ont poids 0
sauf e et e0 de poids respectifs w(e) > 0 et w(e0) > 0.

Dans la suite, nous supposerons sans perte de généralité que toutes les arêtes ont des poids
deux-à-deux différents. Si ce n’est pas le cas, on peut toujours modifier le poids w(e) de
chaque arête e = {x, y} comme suit : w0(e) = (w(e),min{Id(x), Id(y)},max{Id(x), Id(y)}).
Sous l’hypothèse des poids deux-à-deux distincts, il est facile de montrer qu’il ne peut y avoir
qu’un unique MST. Notez que nous donnerons quelques exemples dans lesquels on supposera
par exemple que, pour ensemble d’arêtes F , on a w(e) = 0 pour tout e 2 F . Pour satisfaire la
condition de poids distincts, il suffit de donner à chacune des arêtes de F un poids différent,
arbitrairement petit.

Le problème du MST ne peut pas se résoudre localement, même dans l’anneau. Considérons
en effet l’anneau Cn dessiné sur la figure 3. Le MST dépend de la valeur relative de w(e) et
w(e0). Ainsi, pour que u décide s’il doit inclure e dans mst(u), il doit connaître w(e0). Plus
formellement, considérons un algorithme distribué A de MST communiquant à distance au plus
n
2 � 2. Considérons trois instances du problème, définies par les paires (w(e), w(e0)) :

I1 = (1, 3) I2 = (3, 2) I3 = (1, 2)

Notons que n’importe quel algorithme de MST sur l’exemple de la figure 3 doit inclure toutes
les arêtes de poids nuls. Supposons que A est correct pour I1 et I2. Dans I1, on a e 2 mst(u).
Dans I2, on a e0 2 mst(u0). Du fait que u et u0 ne communiquent pas lors de l’exécution de A

(ils sont à distance n
2 � 1), le nœud u décide la même chose pour I1 et I3. De même, le nœud u0

décide la même chose pour I2 et I3. En conséquence, lorsque A s’exécute sur I3, on a e 2 mst(u)
et e0 2 mst(u0). La structure retournée pas A n’est donc pas un arbre.

Ce chapitre s’intéresse à la complexité des problèmes nécessitant de communiquer à distance
D pour les résoudre. Dans le modèle local utilisé dans le chapitre précédent, tous les problèmes
(Turing-calculable) peuvent être résolus en O(D) étapes en concentrant les données en un nœud,
résolvant le problème en ce nœud, et distribuant le résultat à tous les nœuds. Un tel algorithme
suppose toutefois de potentiellement transmettre un grand nombre d’informations sur chaque
lien à chaque étape, ce qui peut être irréaliste. Nous utiliserons donc un modèle plus raffiné
dans ce chapitre, décrit dans la section suivante.

Notons que le fait que les nœuds aient ou non une connaissance de la taille n du réseau,
voire même de son diamètre D n’a pas d’impact sur la borne ci-dessus pour le MST. Dans ce
chapitre, nous supposerons donc que les nœuds connaissent n et D.

3.1 Un modèle à congestion, et MST distribué

3.1.1 Le modèle congest

Le modèle congest est une restriction du modèle synchrone qui impose une contrainte sup-
plémentaire sur le volume des communications à chaque étape : à chaque étape, la quantité de
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lien à chaque étape, ce qui peut être irréaliste. Nous utiliserons donc un modèle plus raffiné
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Notons que le fait que les nœuds aient ou non une connaissance de la taille n du réseau,
voire même de son diamètre D n’a pas d’impact sur la borne ci-dessus pour le MST. Dans ce
chapitre, nous supposerons donc que les nœuds connaissent n et D.
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Remark MST requires at least D rounds in the cycle. 

Algorithms with round-complexity O(f(n)+D) 
in n-node graphs of diameter D.  

Objective: minimizing f(n)



Borůvska’s algorithm (1926) 
distributed version
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Collection of subtrees  
called « fragments »

A phase = fragments  
are merged Merges use the edge of minimum 

weight going out of each fragment



Fragments & Merging
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Figure 4: Fusion de deux fragments

de ses enfants dans TF . Une fois reçus tous ces poids, il en calcule le minimum (en incluant
le poids minimum de ses propres arêtes incidentes ayant leur autre extrémité à l’extérieur du
fragment), puis transmet ce minimum à son parent dans TF . Une fois que lead(F ) a reçu une
valeurs de chacun de ses enfants, il en calcule le minimum (toujours en incluant le poids minimum
de ses propres arêtes incidentes ayant leur autre extrémité à l’extérieur du fragment), et diffuse
ce minimum dans TF . Ainsi, en O(diam(TF )), tous les sommets du fragment F connaisse l’arête
incidente e = {u, v} à ce fragment, de poids minimum.

Supposons u 2 F , et v 2 F 0, avec F 0
6= F . Les fragments F et F 0 fusionnent, pour constituer

un nouveau fragment bF . En conséquence, l’arête e est rajoutée à TF et TF 0 , résultant en un
arbre T bF couvrant bF . Les fragments F et F 0 sont identifiés par les identifiants respectifs de
leurs leaders. Le fragment bF est identifié par l’identité du nœud ayant la plus petite identité
entre lead(F ) et lead(F 0). Ce nœud devient le leader de bF . On diffuse alors le longs de TF

et TF 0 l’identité de ce nouveau leader afin que les nœuds de bF mettent à jour leur identifiant
de fragment. Durant cette mise à jour, les nœuds modifient potentiellement l’identité de leur
parent et celles de leurs enfants dans l’arbre couvrant le fragment. Une fois cela fait, la phase
se termine.

Le déroulement d’une phase peut toutefois être plus complexe qu’exposé ci-dessus. En effet,
lors de la fusion de F et F 0, si e = {u, v} est l’arête de poids minimum incidente au fragment
F , il n’y a pas a priori de raison que e soir l’arête de poids minimum incidente au fragment F 0.
La figure 5 montre par exemple le cas de six fragments. La direction de chaque arête de Fi vers
Fj indique que l’arête est celle incidente à Fi de poids minimum. Parfois, c’est aussi celle de
poids minimum incidente à Fj , mais pas toujours. Ainsi, lors du déroulement d’une phase, la
fusion ne se fait donc pas nécessairement par paire de fragments, mais une même fusion peut
impliquer plus de deux fragments. Ceci a deux conséquences majeures. D’une part, l’algorithme
lui même est rendu plus complexe. (Nous ne rentrerons toutefois pas ici dans les détails de
son implémentation qui, sans être trivial, ne fait apparaître qu’une série de détails fastidieux à
prendre en compte). D’autre part, la fusion de plus de deux fragments à chaque phase ne permet
plus de borner ni la taille ni le diamètre de chaque fragment. Or, si nous savions que la taille de
tous les fragments n’excède pas 2i à la fin de la phase i, nous pourrions borner le nombre total
d’étapes de l’algorithme par O(

Pdlogne
i=1 2i) = O(n). Malheureusement, la fusion de multiple

fragments lors d’une même phase ne nous permet pas de donner une meilleure borne que celle
exprimée dans le résultat ci-dessous, où le temps de chaque phase est simplement borné par O(n)
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Figure 5: Fusion de plusieurs fragments

étapes afin d’être certain que toutes les fusions de la phase i ont eut lieu avant de commencer
la phase i+ 1.

Théorème 7 L’algorithme de Borůvka distribué construit un MST en O(n log n) étapes dans
le modèle congest.

Preuve. L’arbre retourné par l’algorithme est l’arbre couvrant construit lorsqu’il ne reste
plus qu’un seul fragment. Le fait que cet arbre soit effectivement un MST provient de la règle
de la coupe qui stipule que, pour toute partition des nœuds d’un graphe G = (V,E) en deux
ensembles S et V \S, l’arête de poids minimum parmi toutes les arêtes connectant S a V \S est
nécessairement dans un MST. La correction de l’algorithme découle de cette règle puisque pour
tout fragment F , la paire (F, V \F ) forme une partition de V , et l’arête choisie par l’algorithme
est précisément l’arête de poids minimum incidente à F , donc l’arête de poids minimum parmi
celles de la coupe (F, V \ F ). ⇤

3.2 Un algorithme de MST sous-linéaire

Nous avons vu dans la section précédente un algorithme distribué pour la construction d’un MST
s’exécutant en O(n log n) étapes. Nous allons maintenant voir qu’il est possible de faire mieux,
et de construire un MST en temps O(nc +D) avec 0 < c < 1. Notons que cette complexité ne
contredit pas la borne inférieure ⌦(n) vue en introduction, car cette borne inférieure est basée
sur une famille de graphes pour lesquels D = ⇥(n). L’obtention de la borne O(nc+D) nécessite
d’introduire une autre construction, de performances similaires à celles de la version distribuée
de Borůvka, mais qui, combinée habilement avec cette dernière, permet d’obtenir le résultat
souhaité.

3.2.1 Algorithme Matroïde pour la construction d’un MST

Le nom de cet algorithme provient du fait qu’il peut également s’appliquer à la construction
d’un ensemble indépendant maximal de poids minimum dans un matroïde (un arbre n’est qu’un
ensemble maximal dans le matroïde des co-cycles d’un graphe).
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N(t) = #fragments after t rounds

N(0) = n 
N(t+1) ≤ N(t)/2 ⇒ at most⎡log2n ⎤phases

e = (ID(u),ID(v),w(e))



complexity of a phase = O(maxF diam(F)) 
diam(F) ≤ n-1 
Theorem The distributed version of Borůvska’s 
algorithm can be implemented in O(n log n) rounds in 
the CONGEST model.  

Round complexity
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The bound is tight: 



Matroid Algorithm (1)
K ← E(u)  
wait until having received an edge from each child 
repeat

K ← K ∪ {received edges} 
U ← {edges previously sent to parent(u)}  
R ← {e ∈ K∖U : U ∪ {e} contains a cycle} 
C ← K∖(U ∪ R) 
if C ≠ ∅ then 

send e ∈ C with minimum weight to parent 
receive edges from children 

else terminate
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Algorithm for a node u

know

up

candidate

remove

edges incident to node u



Proof of correctness
Theorem The Matroid algorithm performs in O(n + D) rounds in 
the CONGEST model, and enables the root of the tree to 
construct a MST. 

Lemma 0 Let A and B be acyclic subsets of edges. If |A|>|B| then 
there exists e ∈ A∖B such that B ∪ {e} is acyclic.   

Proof   B is a forest {T1,…,Tk}. Let ni = |V(Ti)|. We have |E(Ti)|=ni-1.   
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For every i, there are at most  
ni-1 edges of A connecting  
nodes in Ti. 
➥ There is an edge in A whose 
extremities do not belong to a 
same tree Ti.  ❏

This is a 
matroid axiom



A node u is said active at phase t if it has not terminated at phase 
t − 1. 

Let h(u) = height of u = length of longest path to a leaf of the 
subtree Tu rooted at u.  

Lemma 1 For every active child v of a node u, the set C of 
candidates for u at time t contains at least one edge sent by v to 
u before time t.  

Proof Induction on h(u). Lemma holds for h(u)=0. 
Assume lemma hold for all nodes at height ≤ k.  
Let u with h(u)=k+1, and v active child of u. Note h(v) ≤ k.  
Eu and Ev be edges sent by u to p(u), and by v to u=p(v) before 
phase t.  
Since h(v)<h(u) we have | Ev | > | Eu |. 
By Lemma 0, ∃ e ∈ Ev ∖ Eu such that  Eu ∪ {e} is acyclic ➡ e ∈ C. 

 16
❏

➪ no premature termination



Lemma 2  
(a) If u sends e to p(u) at phase t  then 

1. all edges received by u at phase t-1 from its active 
children were of weight ≥ w(e), and  

2. all edges to be received by u at phases ≥ t will be 
of weight ≥ w(e). 

(b)  The weights of the edges sent by u to its parent are ➚ 

Proof True for height 0. Assume holds for height k.  
(a.1) Let u with h(u) = k+1.  
Let e’ be edge sent by child v at phase t-1.  
Let e’’ ∈ C whose existence follows from Lemma 1.  
By induction, property (b) implies w(e’’) ≤ w(e′).  
By the choice of the edge in C, we have w(e) ≤ w(e’’).  
➥ w(e′) ≥ w(e). 
(a.2) follows from (a.1) and by induction from (b).  
(b) follows from (a.2) by the choice of the edge in C. 
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❏

➜ it is legitimate
to remove edges
creating cycles
with previously
sent edges. 



Complexity
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In n-node graphs, any set of  
n edges includes a cycle 

➥ every node sends ≤ n-1 edges 

➥ #rounds ≤ D + n - 1



Broadcasting the MST from 
the root to all nodes
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Pipelining the edges of 
T = {e1,e2,…,en-1} down  
the BFS tree 

➥ #rounds ≤ D + n - 1



Wrap Up
• Borůvska: O(n log n) rounds — this is because fragments can 

have arbitrarily large diameter 

• Matroid: O(D+n) rounds — this is because too many edges are 
gathered at a single node.  

• Combining Borůvska and Matroid:  

control the diameter of the fragment, and stops when 
fragments have too large diameter 

carry on with matroid for computing the (few) edges 
connecting the fragments already computed by Borůvska
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Tool
• D ⊆ V is a dominating set if every u ∉ D has a 

neighbor in D.  

• Remarks:  
Every maximal independent set is a 
dominating set. 
Every tree has a dominating set of size ≤ n/2 

• Objective: Distributed computing of a dominating 
set of size ≤ n/2 in consistently oriented trees. 
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MIS in Rooted Trees
• Perform Cole and Vishkin 

algorithm with parent 
• When colors are on 3 bits, 

every node pushes down its 
color 

• Performs 5 rounds to get all 
colors in {1,2,3}. 
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Every node has  
pointer to its parent

root

Complexity : O(log*n) rounds



Computing small dominating 
sets in rooted trees

• Xd = {nodes at distance d from a leaf} 
• Y = V(T) ∖ (X0 ∪ X1 ∪ X2) 
• Let J be MIS in Y (comput. in O(log*n) rounds) 

• Let D = J ∪ X1 

D is a dominating set 
|X1| ≤ |X0|  ⇒  |X1| ≤ ½ |X0 ∪ X1| 

|J| ≤ |(Y ∪ X2) ∖ J | ⇒  |J| ≤ ½ |Y ∪ X2| 

➥ |D| ≤ n/2
 23

root

X2
X1

X0

tree T



Fi
jF

e
e'

e''

Fq
Fp

Figure 6: Fusion de plusieurs fragments. Chaque sommet de ces deux arbres représente un
fragment. L’arête incidente de poids minimum incidente au fragment Fp est l’arête e00, alors que
celle incidente au fragment Fq est e0. Les fragments Fi et Fj ont en commun d’avoir la même
arête e incidente de poids minimum incidente. A l’issue de la fusion de tous ces fragments, il ne
restera plus que deux fragments, correspondant à chacun de ces deux arbres.

(sa hauteur est au plus D). D’autre part, un nœuds ne peut faire remonter plus de n� 1 arêtes
vers son parent car n arêtes induisent nécessairement un cycle dans G, en contradiction avec
le filtrage effectué dans l’ensemble R. La racine termine donc après au plus O(n + D) étapes.
Pour la descente, la racine diffuse à tous les sommets l’ensemble des arêtes du MST calculé. Un
pipeline dans l’arbre BFS permet d’effectuer cette diffusion en au plus O(D + n) étapes car la
hauteur de r est au plus D, et le nombre d’arêtes à envoyer au plus n� 1. ⇤

3.2.2 Combinaison de Borůvka et de Matroïde

La version distribuée de l’algorithme de Borůvka est peu efficace car les fragments peuvent po-
tentiellement devenir très grands, entrainant de nombreuses étapes (potentiellement un nombre
linéaire d’étapes) pour identifier l’arête incidente au fragment de poids minimum. L’algorithme
Matroïde est quant à lui peu efficace car il concentre toutes les données en un seul nœud. Même
filtrée, ces données sont de taille linéaire (au moins n arêtes remontent jusqu’à la racine, pou-
vant nécessiter un temps ⌦(n) si la racine est de petit degré). Afin de développer un algorithme
sous-linéaire, l’idée est d’effectuer quelques phases de Borůvka en contrôlant la taille maximum
des fragments, puis de finir la construction avec Matroïde lorsque la taille des fragment dépasse
un certain seuil.

Pour contrôler la taille des fragments, il faut revenir à la structure des arêtes inter-fragments
identifiées lors d’une phase de fusion de fragments. La figure 5 donne un aperçu de ces liens. Plus
généralement, la figure 6 décrit la forme de ces liens. Chaque fragment F à une arête incidente
e de poids minimum, représentée par un arc sortant du sommet représentant F . L’ensemble
de ces arêtes forme ainsi un 1-facteur, c’est-à-dire un graphe orienté tel que chaque sommet
possède un et un seul arc sortant. La structure d’un 1-facteur est telle que représentée sur
la figure 6 : une collection d’arbres attachés à des cycles orientés. Dans le cas particulier
de l’algorithme de Borůvka, chaque cycle ne contient que deux sommets. En effet, un cycle
e1, . . . , ek de k > 2 sommets, composé d’arcs incidents à F1, . . . , Fk, respectivement, impliquerait
que w(e1) > w(e2) > · · · > w(ek) car Fi+1 sélectionne ei+1 et pas ei, pour tout i = 1, . . . , k � 1.
Or F1 sélectionne e1 et pas ek, donc w(ek) > w(e1), ce qui conduit à la contradiction w(ek) >
w(e1) > w(e2) > · · · > w(ek).
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Bounding the diameter of 
fragments
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Figure 5: Fusion de plusieurs fragments

étapes afin d’être certain que toutes les fusions de la phase i ont eut lieu avant de commencer
la phase i+ 1.

Théorème 7 L’algorithme de Borůvka distribué construit un MST en O(n log n) étapes dans
le modèle congest.

Preuve. L’arbre retourné par l’algorithme est l’arbre couvrant construit lorsqu’il ne reste
plus qu’un seul fragment. Le fait que cet arbre soit effectivement un MST provient de la règle
de la coupe qui stipule que, pour toute partition des nœuds d’un graphe G = (V,E) en deux
ensembles S et V \S, l’arête de poids minimum parmi toutes les arêtes connectant S a V \S est
nécessairement dans un MST. La correction de l’algorithme découle de cette règle puisque pour
tout fragment F , la paire (F, V \F ) forme une partition de V , et l’arête choisie par l’algorithme
est précisément l’arête de poids minimum incidente à F , donc l’arête de poids minimum parmi
celles de la coupe (F, V \ F ). ⇤

3.2 Un algorithme de MST sous-linéaire

Nous avons vu dans la section précédente un algorithme distribué pour la construction d’un MST
s’exécutant en O(n log n) étapes. Nous allons maintenant voir qu’il est possible de faire mieux,
et de construire un MST en temps O(nc +D) avec 0 < c < 1. Notons que cette complexité ne
contredit pas la borne inférieure ⌦(n) vue en introduction, car cette borne inférieure est basée
sur une famille de graphes pour lesquels D = ⇥(n). L’obtention de la borne O(nc+D) nécessite
d’introduire une autre construction, de performances similaires à celles de la version distribuée
de Borůvka, mais qui, combinée habilement avec cette dernière, permet d’obtenir le résultat
souhaité.

3.2.1 Algorithme Matroïde pour la construction d’un MST

Le nom de cet algorithme provient du fait qu’il peut également s’appliquer à la construction
d’un ensemble indépendant maximal de poids minimum dans un matroïde (un arbre n’est qu’un
ensemble maximal dans le matroïde des co-cycles d’un graphe).
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Fast MST algorithm

 25

Two stages:  
1. Few phases of Borůvska 
2. Completed by Matroid 

N(t) = #frags after t phases 
diam(t) = max diameter frags

N(t) ≤ N(t-1)/2  
⟹ N(t) ≤ n/2t 

diam(t) ≤ 3 diam(t-1) + 2  
⟹ diam(t) ≤ 3t -1

Phase t costs  
O(diam(t) log*n) rounds 
τ phases Borůvska costs  
Õ(3τ) rounds
Matroid completes in  
O(D+N(τ)) rounds

3τ = n/2τ  ⟹ #rounds = Õ(D + n0.6131)
Theorem MST construction can be achieved in 
Õ(D + √n) rounds in the CONGEST model. 



Local problems
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C4-detection

 27

H is a subgraph of G if V(H) ⊆ V(G) and E(H) ⊆ E(G)

G is H-free if G does not  
contain H as a subgraph. 



Distributed decision
A distributed algorithm A decides ϕ if and only if:  

• G ⊨ ϕ  ⇒ all nodes output accept 

• G ⊭ϕ  ⇒ at least one node output reject 

Theorem (Drucker, Kuhn & Oshman, 2014) 
Deciding C4-freeness can be done in O(√n) rounds. 



Algorithm

Case 1: there exists a ‘large’ node w in C 
Case 2: all nodes of C are ‘small’

u

w

v1

v2

C



Lower bound 
techniques

 30



Reduction to communication 
complexity

 31

A B

G=(V,E)
Alice Bob

(A,B)-coupe minimale

Figure 8: Réduction du calcul d’une borne inférieure dans le modèle congest au calcul d’une
borne inférieure pour un problème de complexité des communications.

décision dépendait du poids d’une arête e0 à distance D = diam(G). Cela nous avait permis de
conclure à une borne inférieure ⌦(D), ce qui n’est pas forcément d’une grande pertinence pour
des graphes de petit diamètre. En revanche, si nous pouvons établir que les nœuds de la partie
A ont besoin de « beaucoup » de données provenant de B, alors nous pouvons potentiellement
exprimer une borne inférieure dépendante de n, même pour de petits diamètres. En effet, si A
a besoin de x bits provenant de B, et que la coupe minimale séparant A et B est de k arêtes,
alors le transfert de ces x bits de A vers B nécessitera au moins x/(k log n) étapes, car, à chaque
étape, au plus k log n bits peuvent transiter sur k liens dans le modèle congest.

L’argument ci-dessus n’est toutefois pas forcément trivial à utiliser. En effet, outre qu’il
convient d’identifier correctement les ensembles A et B, la notion du « nombre de bits de B
nécessaire à A» pour prendre un décision n’est pas formellement définie ici. En fait, ce ques-
tionnement fait précisément l’objet d’une théorie appelée la complexité de la communication («
communication complexity» en anglais). Dans sa version classique, la complexité des communi-
cations fait intervenir deux joueurs, Alice et Bob, devant calculer une fonction f de leurs entrées.
Plus précisément, Alice et Bob disposent chacun d’une donnée respective a et b, et la question
est : combien de bits doivent échanger Alice et Bob pour calculer f(a, b) ? Par exemple f peut
être l’indicatrice de a = b. Le point crucial est que, pour certaines fonctions f , Alice n’a pas
nécessairement besoin de tous les bits nécessaires à encoder b pour calculer f(a, b). Cela est par-
ticulièrement vrai dans un contexte probabiliste. Ainsi, la technique générale évoquée ci-dessus
et conduisant à la borne inférieure x/(k log n) ne doit pas définir x comme le nombre de bits
pour encoder les données de B, mais x comme la complexité de la communication permettant
à A de prendre la décision convenable. Ainsi, la partie A du graphe devra correspondre à un
joueur, par exemple Alice, et la partie B devra correspondre à un second joueur, par exemple
Bob.

Nous allons appliquer cette technique à la mise en évidence d’une borne inférieure pour la
construction d’un MST.

3.3.2 Borne inférieure pour la construction d’un MST

Pour établir une borne inférieurs sur le temps minimum nécessaire à la construction d’un MST
dans le modèle congest, nous allons considérer une famille d’instances, indexées par un entier
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Communication complexity

Alice Bob

f : {0,1}N x {0,1}N → {0,1}  

a ∈ {0,1}N b ∈ {0,1}N 

Alice & Bob must compute f(a,b) 

How many bits need to be exchanged between them? 



Equality

• Alice gets a ∈ {0,1}N , and Bob gets a ∈ {0,1}N 

f(a,b) = 1 ⟺ a = b 

Theorem CC(EQ) = Ω(N). 
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Set-disjointness
• Ground set S of size N 

• Alice gets A ⊆ S, and Bob gets B ⊆ S 

f(A,B) = 1 ⟺ A ∩ B = ⦰ 

Theorem CC(DISJ) = Ω(N), even using randomization 
(i.e., even if Alice and Bob have access to sources of 
random bits). 



 Application 1 

Ω(√n) lower bound for MST

 35

c0 ck

k

k 2

c1

Figure 9: Les instances (Gm, x). Toutes les arêtes sont de poids nul, sauf celles indiquées en
gras. Parmi celles-ci, celles en noir ont un poids 1, 2, ou 3, et celles en gris ont un poids infini.

positif k et par un vecteur x de k2 bits. Le vecteur x ne sert que pour l’affectation des poids,
alors que k contrôle uniquement la structure d’un graphe Gk.

La construction de Gk est illustrée sur la figure 9. Il consiste en k2 chemins disjoints, chacun
formé de k2 + 1 nœuds, notés vi,j , pour i = 0, . . . , k2 et j = 1, . . . , k2, plus k + 1 nœuds notés
ci pour i = 0, . . . , k formant un chemin (c0, c1, . . . , ck). Chaque ci est de plus le centre d’une
étoile à k2 branches obtenue en connectant ci au nœuds vik,j pour j = 1, . . . , k2. On a donc
n = k2(k2 + 1) + k + 1 = ⇥(k4). Remarquons que le diamètre de Gk est 2k +O(1) = ⇥(n1/4).

Chaque arête de Gk a un poids nul, sauf les arêtes incidentes aux ci, i = 0, . . . , k, n’appartenant
pas au chemin connectant les ci. Les arêtes incidentes à c0 ont leurs poids dictés par x =
(x1, . . . , xk2), avec xi 2 {0, 1} pour tout i = 1, . . . , k2, comme suit : pour tout j = 1, . . . , k2,
on fixe w({c0, v0,j}) = 2xj + 1. Ces poids valent donc 1 ou 3 selon la valeur de xj . Pour
i = 1, . . . , k� 1, les arêtes {ci, vik,j} ont un poids 1. Enfin, les arêtes incidentes à ck ont toutes
un poids 2. Les nœuds de l’instance (Gk, x) ne connaissent pas x. Ainsi, pour tout j, la présence
de {ck, vk,j} dans l’unique MST dépend seulement du poids de {c0, v0,j}, et on vérifie facilement
que, pour tout j,

{ck, vk,j} 2 MST () w({c0, v0,j}) = 3.

La borne du diamètre ne donne qu’une borne inférieure ⌦(n1/4). Nous allons montrer presque
⌦(n1/2) en utilisant le volume de communication devant transiter entre c0 et ck.

Théorème 10 Tout algorithme de construction de MST nécessite au moins ⌦(
p
n/ log n) étapes

dans le modèle congest, même restreint aux instances (Gk, x).

Preuve. Notons qu’en une unique étape, on peut transférer un bit de chacun des nœuds vk2,j
à ck, et de chacun des nœuds v0,j à c0, j = 1, . . . , k2. On peut donc réduire la construction
d’un MST dans (Gk, x) au transfert de x de c0 à ck. Plus précisément, étant donné x en c0, le
nœud ck doit déterminer l’ensemble des indices i pour lesquels xi = 1. En supposant qu’Alice a
x en entrée, la théorie de la complexité des communications dit que le calcul d’une telle fonction
par Bob nécessite le transfert de k2 bits d’Alice à Bob. La construction d’un MST dans (Gk, x)
nécessite donc bien le transfert de k2 bits de c0 à ck.

Nous allons montrer que le transfert de k2 bits de c0 à ck dans Gk nécessite ⌦(
p
n/ log n)

étapes dans le modèle congest. En fait, nous n’allons montrer ce résultat que si l’on se restreint
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weight 0 weight ∞n = Θ(k4)

weight wi weight w’i

wi = 2           w’i = 2 xi + 1 with xi ∈ {0,1}
Lemma Transmitting k2 bits from ck to c1 takes Ω(k2) rounds 
Proof (simplified: no recombination) 
• ∃ i, xi uses ≤ k/2 of highway ➪ Ω(k・k/2) rounds 
• ∀ i, xi uses > k/2 of highway ➪ Ω((k2・k/2)/(k log n) rounds

❏



Application 2 

 Deciding C4-freeness
Theorem (Drucker, Kuhn & Oshman, 2014)  
Deciding C4-freeness required sending Ω(√n/log n) 
bits between some neighbors  

Reduction from Set-Disjointness.  

Lemma There  are C4-free graphs Gn with n nodes 
and m=Ω(n3/2) edges. 



Reduction
Let A and B as in set-disjointness with N = m = Ω(n3/2)

Alice’s copy  
of Gn

Bob’s copy  
of Gn

Alice keeps e ∈ E(Gn) 
iff e ∈ A 
Bob keeps e ∈ E(Gn) 
iff e ∈ Be e

Ω(n3/2)/(n log n)  
= Ω(√n/log n) 

❏



Open problem

 38

deciding       -freeness

C3-free graph

Alice Bob

communication 
complexity fails



Distributed Property Testing
• Property testing: checking correctness of large data structure, by 

performing small (sub-linear) amount of queries.  

• Graph queries (with nodes labeled from 1 to n):  
- what is degree of node x? 
- what is the ith neighbor of node x? 

• Two relaxations:  
- G is ε-far from satisfying ϕ if removing/adding up to εm 

edges to/from G results in a graph which does not satisfy ϕ.  
- algorithm A tests ϕ if and only if:  

‣ G ⊨ ϕ  ⇒ Pr[all nodes output accept] ≥ ⅔  
‣ G ⊭ϕ  ⇒ Pr[at least one node outputs reject] ≥ ⅔
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Testing T-freeness

 40

Theorem For every tree T, there exists a 1-sided error 
randomized algorithm performing in O(1) rounds in the 
CONGEST model, which correctly detects if the given 
input network contains T as a subgraph, with 
probability at least ⅔.

root

Color coding: 10

11

12

13

14

15

16

17

18
9

1

2

3

4
5

6

78

Let T be a k-node 
tree. Label the node 
from k down to 1,  
using BFS from  
arbitrary root.
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a color in [1, k] uniformly at random. We say that G is well colored if at least one of the subgraphs
T 0 of G that is isomorphic to T satisfies that the colors of T 0 correspond to the labels of the nodes
in T . (Note that if G is T -free then G is well colored, no matter the coloring).

In the verification algorithm, every vertex u is either active or inactive, which is represented
by a variable active(u) 2 {true, false}. Initially, every node u is inactive (i.e., active(u) = false).
Intuitively, a node u becomes active if it has detected that the graph contains the tree Tc as
subgraph, rooted at u, where c is the color of u. More precisely, once every node has picked a color
in [1, k] u.a.r., all nodes exchange their colors between neighbors. Then Algorithm 1 performs k
rounds. At the beginning of each round, every node v communicates active(v) to all its neighbors.
In round c, 1  c  k, each node u with color c checks whether, for each color c0 of its children,
some neighbor v is colored c0 and is active. If that is the case, it becomes active, otherwise it
remains inactive.

Algorithm 1 Randomized tree-detection, for a given tree T . Algorithm executed by node u.

1: send ID(u) to all neighbors, and receive ID(v) from every neighbor v
2: let k = |V (T )|, and pick color(u) 2 [k] uniformly at random
3: send color(u) to all neighbors, and receive color(v) from every neighbor v
4: for every c 2 [1, k], let Nc(u) = {v 2 N(u) | color(v) = c}
5: active(u) false
6: for c = 1 to k do

7: send active(u) to all neighbors, and receive active(v) from every neighbor v
8: compute A(u) = {v 2 N(u) | active(v) = true}
9: if color(u) = c and

�
8c0 2 child(c), Nc0(u) \A(u) 6= ;

�
then

10: active(u) true
11: end if

12: end for

13: if color(u) = k and active(u) = true then

14: output reject
15: else

16: output accept
17: end if

We claim that a well colored graph G contains T as a subgraph if and only if a vertex colored k
becomes active at round k. To establish that claim, note first that, if c 2 [1, k] is a leaf of T , then
the tree Tc is detected on round c, by every node colored c. Suppose now that, for every c0 < c,
the fact that a node u colored c0 becomes active at round c0 means that u has detected Tc0 . Let
c1, . . . , cr be children of c in Tc. A node u colored c becomes active at round c if and only, for every
i, 1  i  r, it holds that u has an active neighbor colored ci. From the construction of the labels
of T , and from the induction hypothesis, this implies that u becomes active at round c if and only
if u has detected Tc. We conclude that a node colored k becomes active at round k if and only if
T is detected in G, as T = Tk.

Now, if G contains T as a subgraph, then the probability that G is well colored is at least
(1/k)k. Therefore, we run O(kk) independent iterations of Algorithm 1, which yields that, with
probability at least 2/3, G is well colored for at least one iteration. ⇤

8

Pr[detecting T] ≥ (1/k)k 

Perform O(kk) repetitions of Algorithm 1 to get  
prob[detecting T] ≥ ⅔ 

Remark: does not 
use ε-farness. 



Testing C3-freeness
Algorithm of node u 
Exchange IDs with neighbors 
for every neighbor v do 

pick a received ID u.a.r. 
send that ID to v 

if u receives ID(w) from v ∈ N(u) with w ∈ N(u) and v ≠ w  
then output reject 
else output accept
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Lemma 1 For any triangle ∆, Pr[∆ is detected] ≥ 1/n



Analysis
Theorem Let ε ∈ ]0,1[. If G is ε-far from being C3-free, then 
the algorithm detects a cycle with prob ≥ 1-(1/e)ε/3  

Lemma 2 If G is ε-far from being C3-free, then G contains at 
least εm/3 edge-disjoint triangles.  

Proof Let S={e1,e2,…,ek} be min #edges to remove for 
making G triangle-free (k ≥ εm).  

Repeat removing e from S, as well as all edges of a triangle 
∆e containing e ➡ at least k/3 steps.  

All triangles ∆e are edge-disjoint. 
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❏



Analysis (continued)

Proof (of theorem) 

• Pr[no ∆ detected] ≤ (1-1/n)εm/3 ≤ (1-1/n)εn/3 

• (1-1/n)n ≂ 1/e 

• Pr[no ∆ detected] ≤ (1/e)ε/3 

Repeat k times with k such that (1/e)εk/3 ≤ 1/3 

That is k ≥ 3 ln(3) / ε ➡ #rounds = O(1/ε). 
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Open problem
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Is there a distributed 
tester for K5-freeness 
running in O(1) rounds in 
the CONGEST model?



Distributed Verification

 46



Acyclicness

 47

Non locally decidable! 
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Acyclicness
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Algorithm of node u 

exchange counters with neighbors 
if ∃! v∈N(u) : cpt(v)=cpt(u)-1 and 
   ∀ w∈N(u)∖{v}, cpt(w)=cpt(u)+1 
then accept 
else reject

if G is acyclic, then there is  
an assignment of the counter  
resulting in all nodes accept. 

if G is has a cycle, then for  
every assignment of the  
counters, at least one node 
rejects.   

x

x+1

x+2

x+k
cycle Ck



Proof-Labeling Scheme
A distributed algorithm A verifies ϕ if and only if:  

• G ⊨ ϕ  ⇒ ∃ c: V(G) → {0,1}* : all nodes accept (G,c) 

• G ⊭ϕ  ⇒ ∀ c: V(G) → {0,1}* at least one node rejects (G,c) 

The bit-string c(u) is called the certificate for u (cf. class NP) 

Objective: Algorithms in O(1) rounds (ideally, just 1 round in LOCAL) 

Examples: 
• Acyclicness: c(u) = distG(u,r) 
• Spanning tree: c(u) = (distG(u,r),ID(r)) 

Measure of complexity: maxu∈V(G) |c(u)|
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O(log n) bits



Application: Fault-Tolerance

 50

construction 
algorithm 

solution

certificate 
of correctness

Example: Self-stabilization

Legal configurations

Illegal configurations
time

system
state

initial
state

current
state

fault



Universal PLS
Theorem For any (decidable) graph property ϕ, there 
exists a PLS for ϕ, with certificates of size O(n2) bits in n-
node graphs.  

Proof c(u) = (M,x) where  
• M = adjacency matrix of G 
• x = table[1..n] with x(i) = ID(node with index i) 

Verification algorithm:  
1. check local consistency of M using x 
2. if no inconsistencies, check whether M satisfies ϕ 

G satisfies ⟺ both tests are passed 
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❏
exercice



Lower bound
Theorem There exists a graph property for which any 
PLS has certificates of size Ω(n2) bits.  

Proof Graph automorphism = bijection f:V(G)→V(G) such 
that {u,v} ∈ E(G) ⟺ {f(u),f(v)} ∈ E(G) 

Fact There are ≥ 2      graphs with no non-trivial auto. 
If certificates on < εn2/3 bits, then ∃ i≠j such that the three 
nodes          have same certificates on Gi-Gi and Gi-Gi.

 52

ε n2

GiGi GjGj GjGi

❏



Local hierarchy
• Equivalent of, e.g., polynomial hierarchy in complexity theory 

• {locally decidable properties} = ∑0 = ∏0  

• {locally verifiable properties (with PLS)} = ∑1 

Deciding graph property ϕ is in ∑1 if and only if:  
• G ⊨ ϕ  ⇒ ∃ c all nodes accept (G,c) 

• G ⊭ϕ  ⇒ ∀ c at least one node rejects (G,c) 

Deciding graph property ϕ is in ∏1 if and only if:  
• G ⊨ ϕ  ⇒ ∀ c all nodes accept (G,c) 

• G ⊭ϕ  ⇒ ∃ c at least one node rejects (G,c)
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The hierarchy (∑k,∏k)k≥0
Deciding graph property ϕ is in ∑2 if and only if:  

• G ⊨ ϕ  ⇒ ∃ c1 ∀ c2 all nodes accept (G,c1,c2) 
• G ⊭ϕ  ⇒ ∀ c1 ∃ c2 at least one node rejects (G,c1,c2) 

Deciding graph property ϕ is in ∏2 if and only if:  
• G ⊨ ϕ  ⇒ ∀ c1 ∃ c2 all nodes accept (G,c1,c2) 
• G ⊭ϕ  ⇒ ∃ c1 ∀ c2 at least one node rejects (G,c1,c2) 

Deciding graph property ϕ is in ∑k if and only if:  
• G ⊨ ϕ  ⇒ ∃ c1 ∀ c2 ∃ c3 … Q ck all nodes accept (G,c1,…,ck) 
• G ⊭ϕ  ⇒ ∀ c1 ∃ c2 ∀ c1 … ¬Q ck at least one node rejects (G,c1,…,ck) 

Deciding graph property ϕ is in ∏k if and only if:  
• G ⊨ ϕ  ⇒ ∀ c1 ∃ c2 ∀ c3 … Q ck all nodes accept (G,c1,…,ck)  
• G ⊭ϕ  ⇒ ∃ c1 ∀ c2 ∃ c3 … ¬Q ck at least one node rejects (G,c1,…,ck)
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Example: Minimum 
Dominating Set

Decision problem MinDS:  
- input = dominating set D   (i.e., D(u)∈{0,1}) 
- output = accept if |D| = mindom D |D| 

Theorem MinDS ∈ ∏2  
Proof  
c1 encodes a dominating set, i.e., c1(u)∈{0,1} 
c2 encodes:  

a spanning tree Terr pointing to node u with error in c1 if any 
a spanning tree T0 for counting |D| (w/ same root) 
a spanning tree T1 for counting |c1| (w/ same root) 

Algorithm:  
- If root u ses |c1| < |D| with no error, it rejects, otherwise it accepts 
- If any node detects inconsistencies in T0, T1 or Terr it rejects, 

otherwise it accepts. 
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Randomized Protocols 
[FKP, 2013]

• At most one selected (AMOS)


• Decision algorithm (2-sided): 

- let p = (√5-1)/2 = 0.61…

- If not selected then accept

- If selected then accept w/ prob p, and reject w/ prob 1-p


• Issue with boosting!  — But OK for 1-sided error



Distributed Interactive Protocols 
[KOS, 2018]

• Arthur-Merlin Phase 
(no communication, 
only interactions)


• Verification Phase 
(only communications)

• k = #interactions

• dAM[k] or dMA[k]

• Merlin has infinite 
communication power


• Arthur is randomized



Example: AMOS

• In BPLD with success prob (√5-1)/2 = 0.61…


• In Σ1LD(O(log n))  — Not in Σ1LD(o(log n))


• Not in dMA(o(log n)) for success prob > 4/5 


• In dAM(k) with k random bits, and success prob 1-1/2k

- Arthur independently picks a k-bit index at each node u.a.r. 

- Merlin answer ⊥ if no nodes selected, or the index of the 

selected node



Sequential setting
• For every k ≥ 2, AM[k] = AM


• MA ⊆ AM  because MA ⊆ MAM = AM[3] = AM


• MA ∈ Σ2P ∩ Π2P   


• AM ∈ Π2P


• AM[poly(n)] = IP = PSPACE



Known results  
[KOS 2018, NPY 2018] 

• Sym ∈ dAM(n log n)


• Sym ∈ dMAM(log n)


• Any dAM protocol for Sym requires Ω(loglog n)-bit 
certificates 


• ¬Sym ∈ dAMAM(log n)


• Other results on graph non-isomorphism



• Number of interactions between         and        


• Size of 


• Size of


• Number of random


• Shared vs distributed

Parameters



Tradeoffs  
[CFP, 2019]

• Theorem 1 For every c, there exists a Merlin-Arthur (dMA) 
protocol for triangle-freeness, using O(log n) bits of shared 
randomness, with ︎Õ(n/c)-bit certificates and Õ︎(c)-bit 
messages between nodes.


• Theorem 2 There exists a graph property admitting a 
proof-labeling scheme with certificates and messages on 
O(n) bits, that cannot be solved by an Arthur-Merlin (dAM) 
protocol with certificates on o(n) bits, for any fixed 
number k ≥ 0 of interactions between Arthur and Merlin, 
even using shared randomness, and even with messages 
of unbounded size.



Congested Clique
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Definition

 64

CONGEST model, but on a clique! 

Unicast variant

potentially 
different

messages

Broadcast variant

same
messages



Graph Problems in the 
Congested Clique
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Lower bound in the 
Broadcast Congested Clique
Theorem (Drucker, Kuhn & Oshman, 2014)  
Deciding C4-freeness required sending Ω(√n) bits 
between some neighbors in the Broadcast 
Congested Clique. 
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Alice

Bob

Θ(n2) links but 
bandwidth Θ(n log n)



To date, no lower bounds for this model are known…  

Theorem (informal - Drucker, Kuhn & Oshman, 2014)) 
The unicast congested clique can « simulate » 
« powerful » classes of bounded-depth circuits.  

It follows that even slightly super-constant lower 
bounds for the unicast congested clique would give 
new lower bounds in circuit complexity.
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Lower bound in the  
Unicast Congested Clique



Concluding remarks
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Open problems

• Lower bound for the congested clique (hard!) — 
first step: broadcast congested clique. 

• Ability to solve local problems (e.g., triangle 
detection) in the CONGEST model. 

• Practical approach: how do the known results 
scale with the bandwidth B of the link? 

• Congest algorithms for dynamic networks.
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Time vs. Space

 70

Time Space

?


